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Solve each equation or problem and find your anewer at the bottom of

B

page. Write the letter of the exerciss In the box containing ite solution.

65x+2x-9=40

¥

QOsa-70+12=32

)5

O3x-2x-1=58

 Q@ap-13p-p=-150 Q3B+3y-3u=3

=8
P15

©v-4w+3=-3

eIl

°-5u+4+8u=43

=15

OQ-3b+7+2p=19

bh=-00

Lo e {y
Yol

O%m-—2-—-§;m=-13 0v-%v+6=11

m="1

The sum of the measures 0 The sum of the
of two complimentary
angles s 80°. Find the
measure of the angle

labeled x.
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VS

of the three angles of 2

triangle is 180°. Find the
. " measure of the angle
' labeled x.
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(Why Was the Pail Pale? ~{3
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Oot+2+3t+17=10

_Ja
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0.k~6-7k+20==-2

1 ;
Q16-2n+5+8n=65
"ﬂéq
Dia-4+gd-4=5
=g @
©O70-g-q-29=80

quadrila
4 || the meas
" labeled x,

measures The sum of the measures
of the four angles of a

is 360°. Find
of the angle 0
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